
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

2, 87 × ________ = 2870 9, 993 × ________ = 99.93

4, 895 × ________ = 4895 9, 796 × ________ = 979.6

9, 808 × ________ = 98.08 8, 849 × ________ = 88.49

3, 622 × ________ = 3622 5, 864 × ________ = 58.64

2, 601 × ________ = 2601 5, 776 × ________ = 5776

6, 778 × ________ = 67.78 9, 116 × ________ = 9116

5, 877 × ________ = 587.7 7, 71 × ________ = 77.1

6, 914 × ________ = 691.4 8, 259 × ________ = 825.9

1, 271 × ________ = 127.1 2, 294 × ________ = 229.4

10, 864 × ________ = 108.64 4, 461 × ________ = 446.1
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

2, 87 × 1000 = 2870 9, 993 × 10 = 99.93

4, 895 × 1000 = 4895 9, 796 × 100 = 979.6

9, 808 × 10 = 98.08 8, 849 × 10 = 88.49

3, 622 × 1000 = 3622 5, 864 × 10 = 58.64

2, 601 × 1000 = 2601 5, 776 × 1000 = 5776

6, 778 × 10 = 67.78 9, 116 × 1000 = 9116

5, 877 × 100 = 587.7 7, 71 × 10 = 77.1

6, 914 × 100 = 691.4 8, 259 × 100 = 825.9

1, 271 × 100 = 127.1 2, 294 × 100 = 229.4

10, 864 × 10 = 108.64 4, 461 × 100 = 446.1
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